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Candidates are required to give their answers in their own words 

as far as practicable 

 

1. Answer any five of the following questions:                                                         1×5 = 5 

যে য োন ো পোাঁচটি প্রনের উত্তর দোও :  

(a) Write down the electronic configuration of the element of atomic number 24. 

24 পোরমো বি  সংখ্যো বিবিষ্ট যমৌনের ইনেক্ট্রণ বি যোস যেনখ্ো । 

(b) Among O and N which has higher first ionization energy? 

অক্সিনে  এিং  োইনরোনে  এর মনযয  োর প্রথম আয় ী রণ িক্সি যিবি । 

(c) State the oxidation number of manganese in permanganate ion. 

পোরমযোঙ্গোন ি আয়ন  মযোঙ্গোব নের েোর  সংখ্যো যেনখ্ো। 

(d) Draw the R- and S- forms of glyceraldehyde (CH2OHCHOHCHO). 

বিসোরেবিহোইি (CH2OHCHOHCHO) এর R এিং S গঠ  দুটি অঙ্ক   নরো ।  

(e) Compare C-H bond length of C2H6 and C2H2.  

C2H6 এিং C2H2 এর C-H িন্ধ -দদন্ যয তুে ো  র । 

(f) Which is stronger acid between HNO2 and HNO3? 

HNO2 এিং HNO3 এর মনযয য ো টি  িক্সিিোেী অবি  ?  

(g) How can you distinguish chemically between 1-butyne and 2-butyne? 

রোসোয়ব  ভোনি  ীভোনি ১-বিউিোই  এিং 2-বিিোইন র মনযয পোথ য য  রনি । 

(h) Among methyl amine and aniline, which one is more basic? 

বমথোইে অযোমোই  এিং অযোব বেন র মনযয য ো টি যিবি ক্ষোরীয়? 

 



2. Answer any two of the following questions:                                                       5×2 = 10 

যে য োন ো দুটি প্রনের উত্তর দোও: 

(a) State the postulates of Bohr’s atomic theory and derive an expression for the radius 

of first Bohr’s orbit of a rotating electron in hydrogen atom.                        2+3 = 5      

যিোনরর এর পোরমোণবি  তনের স্বী ৃবত গুবে ব  ব ? হোইনরোনে পরমোণুনত ্ূণ যয়মো  

এ টি ইনে রন র প্রথম যিোর নক্ষর িযোসোয য বিষে  সমী রণটি ব রূপ   র।                               

(b) (i) “Acetylene is more acidic than ethylene” – Explain. 

"এবথবেন র যচনয় এবসটিবে  যিবি অিীয়" - িযোখ্যো  নরো । 

(ii) What products do you expect when (CH3)2C=C(CH3)2 undergoes ozonolysis?  

                                                                                                                        3+2 = 5   

(CH3)2C=C(CH3)2 এর ওনেোন োেোইবসস এর ফনে উৎপন্ন পদোথ যগুবে উনেখ্  নরো ।  

(c) (i) Balance the following equation by ion-electron method: 

ব ম্নবেবখ্ত রোসোয়ব   সমী রণটির আয় -ইনে র  পদ্ধবতনত সমতো বিযো   নরো । 

KMnO4 + FeSO4 + H2SO4  K2SO4 + MnSO4 + Fe2(SO4)3 + H2O  

(ii) “AgI2
 is more stable than AgF2

“ - Explain.                                               3+2 = 5  

         “AgF2 অনপক্ষো AgI2  অবয  স্থোবয়”  - িযোখ্যো   নরো ।                   

(d) Write notes on the following (any two)                                                     2.5×2 = 5 

ব ম্নবেবখ্তগুবেনত য োি বেখু্  (যে য ো ও দুটি) 

(i) Aufbau principle 

আউফিোউ  ীবত 

(ii) Wurtz reaction 

ভোেয বিক্সিয়ো 

(iii) Lux-Flood concept of acids and bases 

অি এিং ক্ষোনরর েোি-ফ্লোি তে 

(iv) Resonance 

সংস্পন্দ  

3. Answer any one of the following questions:                                                     10×1 = 10 

যে য োন ো এ টি প্রনের উত্তর দোও: 



(a) (i) Identify Lewis acid and Lewis base from the following species: Fe3+, Br-, SO2 

and BF3. 

ব ম্নবেবখ্ত প্দোথ য যথন  েুইস অি্ এিং েুইস ক্ষোর স োি  নরো: Fe3+, Br-, SO2 এিং BF3. 

(ii) “Radius of cation is lesser than the radius of neutral atom whereas for anion it 

is greater than the radius of neutral atom” – Comment. 

"য োত্ম  আয়ন র িযোসোয য ব স্তবিৎ পরমোণুর িযোসোনয যর যচনয়  ম ব ন্তু ঋ োত্ম  

আয়ন র িযোসোয য ব স্তবিৎ পরমোণুর িযোসোনয যর যচনয় যিবি হয়" – মন্তিয  নরো । 

(iii) Indicating reason arrange HCl, HF, HBr and HI in order of their decreasing 

acidity. 

HCl, HF, HBr এিং HI – অিগুবের আবি তোর িম যেখ্ এিং  োর  িযোখ্যো  নরো । 

(iv)  “BF3 is planar but NF3 is pyramidal” - Explain                           2+3+3+2 = 10 

“BF3 সমতেীয় ব ন্তু NF3 বপরোবমিো োর” - িযোখ্যো  নরো । 

 

(b) Carry out the following conversions (any five):                                          2×5 = 10 

ব ম্নবেবখ্ত রূপোন্তরগুবে সম্পন্ন  নরো (যে য ো ও পোাঁচটি): 

(i) Tertiarybutyl bromide to Tertiarybutyl alcohol 

িোবস যয়োবর বিউিোইে যরোমোইি যথন  িোবস যয়োবর বিউিোইে অযোেন োহে 

(ii) Ethanol to Ethylene 

ইথো ে যথন  ইবথবে  

(iii) Propylene to Acetaldehyde 

যপ্রোবপবে   যথন  অযোবসিোেবিহোইি  

(iv) Methane to Tetrachloro Methane 

বমনথ  যথন  যিরোনলোনরো বমনথ  

(v) Propyne to 1,2-dibromo propane 

যপ্রোপোই  যথন  ১, ২-বিইনরোনমো যপ্রোনপ  

(vi) Acetylene to Acetone 

অযোবসটিবে  যথন  অযোবসনিো  

(vii) 1-Butene to 2-Butene 

  ১-বিউটি  যথন  ২-বিউটি                                                                                       

 

 


